Run 5494 mpswise, accO: All

: Entries: 248916
25000 — -[
— Mean: 0.77249 4~ 0.0140
B Std Dev- 6.9728 +- 00099
20000 —
15000 — -
10000 —
5000 |—
0 _I ] 1 | ] ] ] ] | ] I
0 5 10 20
AccO/MNACcD
Run 5494, mpswise, acc0: Beam ON, Laser ON
: Entries:; 145553
12000 — Mean: 15.5765 +- 0.0033
: Sid Dey: 1.2679 +- 00023
10000 —
8000 —
6000 —
4000 —
2000 —
ID_|||||||I|||||||I|_|||-- | I B O B . SO B
0 2 4 6 B 10 12 14 16 18 20

AccQiNAccD

500

400

300

200

100

2500

2000

1500

1000

500

Run 5494 mpswise, acc(: Beam OFF

Enilrie=: 12404

Mean: 002692 4/- 0.0009

Sid Drev: 00962 +- 0.00086

IIII|IIII|IIII|IIII|IIIII —lJ.-l-._LI_Illll

=

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7
AccO/MNAccD

Run 5494, mpswise, acc0: Beam ON, Laser OFF

Eniries: 71583

Mean: 1.7147F +- D10

Sid Dev: 0L272T - 0.0007

AcciNACcD



Run 5494 mpswise, BCM: All Run 5494 mpswise, BCM: Beam OFF

%10
[ Entries: 248916 = Enitries: 12404
200 — 12000 H—
— Mean: 141.7730 4/- 0L0ETE T Mean: 000005 4/~ 0.0002
180 — 1
1 ED E_ Sid Dew: T3.6915 «- OLIMTE 'II:}I}DI:::I :-_ Sid Dew: 00283 - 0.0002
140 — i
— BOOD H—
120 — [
100 — &000 I
80 i
a0 :_ 4000 h—
40 2000 {—
20— [ I
D5|:||||||_|||||||||||4..||||||||||||-|||| D“III|III|III|III|III|III|III|III|III|
0 20 40 60 80 100 120 140 160 0 0.2 0.4 0.6 0.8 1 1.2 1.4 1.6 1.8
bem bem
Run 5494, mpswise, BCM: Beam ON, Laser ON Run 5494, mpswise, BCM: Beam ON, Laser OFF
14000 —
— Entries:; 145553 — Entries: 71353
: L] 500538 f.0d1a ?ﬂl}n __ _r|_ 4] 50,1078 D034
-IED.DG_ ean: 15 = L) 1 | ean: 15l 4= L1
: Sid Dhew: 0.7009 - D.0013 EGD{J :_ Sid Dew: 006409 - 00007
10000 — [
- 5000 [—
8000 |— -
B 4000 — |
6000 — -
— 3000 —
40001 2000 —
2000 — 1000 —
0 I T R T T T R R R I N R B [ 0o I I TR T S Y S TN (N NN (NN S SR NN P . SRS SR N SR |
142 144 146 148 150 152 142 144 146 148 1850 152

bem bem



Run 5494 mpswise, lasPow: All Run 5494 mpswise, lasPow: Beam OFF
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